
Parts Breakdown
Model Santos 09 44023



Parts Breakdown
Model Santos 09 44023

Item No. Description Position Item No. Description Position Item No. Description Position

AC432 Aluminum Lever for 44023 09122 AC462 Complete Crushing Disc with Snow Blade 
+ Locking Screw for 44023 09200S AC485 Ondulated Washer 6202 for 44023 09340

AC433 Grater Housing for 44023 09124 40679 Crushing Disc with Blade for 44023 09201 AC486 Flange for 44023 09341

AC434 Grooved Pin 5x22 for 44023 09125 AC463 Crushing Disc for Snow Ice for 44023 09201S AC487 Screw FS M5x16 Stainless Steel for 
44023 09342

AC435 Locking Key for 44023 09126 73694 Aluminum Disc Holder Only for 44023 09202 AC488 Rubber Foot Diam 12 for 44023 09343

AC436 Drawer Sustainer for 44023 09127 73695 Stainless Steel Knife for 44023 09203 AC489 Disc Washer for 44023 09345

AC437 Grooved Pin 8x55 for 44023 09137 73696 Screw H M5x10 Stainless Steel for 44023 09204 AC490 Complete Motor Single Phase 110-120V 
60Hz for 44023 09350B

AC438 Completer Housing for 44023 09140 40680 Locking Screw for 44023 09205 AC491 Complete Front Flange for 44023 09352

AC439 Detection Assembly for Drawer for 44023 09145 73697 Screw H M8x10 Stainless Steel for 44023 09206 AC492 Bottom Plate Only (Old) for 44023 09403

AC440 Drawer Contact Switch Holder for 44023 09146 73698 Fiber Washer for 44023 09209 AC493 Rubber Foot Diam 22x10 for 44023 09406

AC441 Microswitch for 44023 09147 AC464 V Ring Gasket V22 for 44023 09210 AC494 Washer 5x12 for 44023 09407

AC442 Screw for 44023 09148 73699 Washer D5 Stainless Steel for 44023 09212 AC495 Starting Relay (100-120V 50/60Hz) 
for 44023 09409B

AC443 Washer D3 for 44023 09149 AC465 Bearing 6202 for 44023 09303 AC496 Screw CB M4x10 Zn for 44023 09410

AC444 Nut H M4 Zn for 44023 09151 AC466 Bearing Washer for 44023 09304 AC497 Nut H M4 Zn for 44023 09411

AC445 Washer AZ 4 Zn for 44023 09152 AC467 Chromed Bearing Washer for 44023 09312 AC498 Capacitor 250 MF 100-120V 50/60 Hz 
for 44023 09412B

AC446 Safety Lever for 44023 09153 AC468 Screw H 4x10 for 44023 09313 AC499 Capacitor Ring for 44023 09413

AC447 Washer 4x14 Zn for 44023 09154 AC469 Bearing 6202 for 44023 09314 AC500 Screw CB M4x20 Zn for 44023 09414

AC448 Safety Lever Spring for 44023 09155 AC470 Complete Stator (Winding) 110V 60Hz 
for 44023 09315B AC501 Power Cord with USA Plug for 44023 09419B

AC449 Safety Lever for 44023 09156 AC471 Stator Only 1 Phase 110V 60Hz for 44023 09316B AC502 Rubber Foot D25x15 for 44023 09430

AC450 Washer for 44023 09157 AC472 Rod M6x35 for 44023 09317 AC503 Painted Base Only for 44023 09431

AC451 Screw 4x8 Zn Auto for 44023 09160 AC473 Nut H M6 Zn for 44023 09318 AC504 Bottom Plate for 44023 09432

AC452 Microswitch Holding Plate for 44023 09166 AC474 Washer 6x18 for 44023 09319 AC505 Screw H M5x12 Zn Autotar for 44023 09434

AC453 Micro Switch for 44023 09167 AC475 Pin 3x5 for 44023 09323 AC506 Special On-Off Multi-Function 8A115V 09435B

AC454 Screw for 44023 09168 AC476 Rear Flange for 44023 09324 AC507 Cap D12.2x6.2 Black for 44023 09436

AC455 Washer for 44023 09172 AC477 Front Flange for 44023 09327 AC508 Membrane + Plastic Tally Assembly 
for 44023 09437

AC456 Lever Safety Detection Axle for 44023 09173 AC478 Assembling Threaded Rod M5x147 for 
44023 09329 AC509 Complete Bottom Plate 110V for 44023 09440B

AC457 Detection Pin End for 44023 09174 AC479 Fan (Old<08/2017) for 44023 09330 AC510 Washer AZ 4 Zn for 44023 09441

AC458 Safety Spring Plate for 44023 09177 AC480 Screw CB M4x10 Zn (Old) for 44023 09332 AC511 Complete Base 120V 60Hz for 44023 09450B

AC459 Washer for 44023 09179 AC481 Assembling Threaded Rod M5 for 44023 09335 40682 Drawer for 44023 09502

AC460 Screw 4X8 Zn Auto for 44023 09180 AC482 Cap Nut H M5 Zn for 44023 09336 AC512 Screw FS M4x10 Stainless Steel for 
44023 09503

AC461 Complete Grater Housing for 44023 09190 AC483 Stainless Steel Motor Protector for 44023 09337 73700 Drawer Stainless Steel Plate for 44023 09505

73692 Complete Crushing Disc with Blade + 
Locking Screw for 44023 09200 AC484 Motor Protector Spring for 44023 09338


